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Q1

Q2

Q3

(a)

(b)

(c)

(d)

(a)

(b)

(c)

(a)

(c)

Find the pattern of the following sequence 1,6,11...

(3 marks)
Solve the equation log, 135= log, 5 + 3

(6 marks)
Use De Moivre's Theorem to find all the square roots of Z =2 —iﬁ "

(7 marks)
Write 1+4 NG in simplest form

(4 marks)

ABCD is a parallelogram such that AC = 3i + 4j — 5Kk. If the position vector of A
and Bare 3i—2j+6k and 5i—3j+ 2k respectively. Find the position vector of point

D.

(5 marks)
Find vector equation of plane containing P(4,-1,2), Q(2,0.3) and R(-1,0,2)

(9 marks)
A straight line passes through point K = (—1,—4,5) and L =(-2.6,1).
(1) Find a vector equation of the straight line.

(2 marks)
(1i) State the parametric and symmetric equations of the straight line.

(4 marks)

. . 1\ ~2—2x

Solve the following exponential equation: (5) = JZ29~1

(5 marks)
prove cos(m — x) = — cos x.

(3 marks)
By using double angle formulae, evaluate the value of cos4(90‘ )

(4 marks)
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(d)

Q4 (a)
(b)
(c)
Q5 (a)
(b)

Given 2sin@+3cos@=rsin(@+a) and 0<H<27.

(1) Determine rand o.

(4 marks)
(1) Thus, estimate the value of # if 2sin@+3cosd =3.

(4 marks)
Find the value of x that satisfies the equation

In(4x +1) — In(3x —2) = In5 + Inx.

(4 marks)
Solve 7 log, x — 6log, 2 = 19

(6 marks)

Calculate the root of the f(x)=x"+2x*—x—3 in the interval [0,1-5] using Secant

method. Iterate until | f(x,)| < &=0.005. Show your calculation in three decimal

Find value of

places.
(10 marks)
Solve the following system of linear equations by using inverse matrix:
X + 2y — 4z = 4
2x + Sy — 9z = 1.
38 = 2y % 3 = ]l
(11 marks)
4 0 3 b D 5
LetA=(2-31 ), B=|51 3
5 4 =5 2=29
(1) A-2B
(3 marks)
(ii) AB
(4 marks)
(iti)  (4B)"

'E‘ERBUK_A. (2 marks)

- END OF QUESTIONS -
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LIST OF FORMULA
Polynomials
logax=:0g—“z a®*—b¥=(a—b)(@a*+ab+b?) a®+b3=(a+b)(a®—ab+b?)
0g ,
~b++/b* —4ac " ( b}z ['b]z 5 (x) =X ()
x= . - dbxve=|xd=| = =| ®€; Hy= : :
Y 2 2 1) — 1)

Sequence and Series

n n n 2 % LN
ZC:CH, Zk:n(n-i_l) . Zklzn(ndl_l)(‘”—'_l), ZkB_(n(”+I))
k=1 k=l 2 k=1 6 =l

x,=a+(n-Dd S,==[2a+(n-Dd]. S, =7(a+u,)

" a(r" — a(l-r"
"n:ar ls Sn_ ( )”>l ORSH_ ( )" 11 8, = e
¥— -~ R
rl =S,,""S”_“]
- A —2) . .
(1+5)" =1+nb+ "("7’ l)bz + il 13)1(n “)b" KS—

Trigonometry

;9 2 2 2 2 2
sm” x+cos" x=1, tan“x+1=sec“x, l+cot°x=csc"x

sin(  + ) = sin wcos B + cos ¢ sin fB cos(a = ff) = cosx cos fFsin asin
= 2tan &
L. 7. b 2 = G
1¥ tan @ tan S8 1- tan-6&

sin2@ = 2sin Bcos 8, cos26 = cos® O—sin’ 6
b )
= 2cos” 8-1
= 1-2sin* @
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LIST OF FORMULA

sin.€= ’ﬂ . cos£=i‘lﬂ’ t-rmg=i #ﬂ
2 2 2 2 2 1+ cosé

asin @+ bcos @ =rsmn(f+ a)=r(sin @cos a + cos @sin ) = (rcos a)sin & + (rsin &) cos & and
a=rcosa and b=rsn o

i

4 e k+1) (k)
: b~ 3P g 52 B — g ™ —g . ,
xl(.nh sl 127*2 1373 : Iihl) el 1) el | 33703 , Lokl _ b3 —aﬂx;k ”—aﬂxél +1)
2 2 o
a, as, s,
Matrices
a,, a4, 4
tyy, dyy ;) Q3 ay, a4,
A=lay ay, ay|, A|:an a,, tTa;
32 Gy 31 Qs as, 32
sy Ay, diy

TERBUKA

[

CONFIDENTIAL




CONFIDENTIAL DAS 10103

LIST OF FORMULA

Table 1: Vector

. u
U=
lul =+ a®+b%+c? ul
ue v =iV +u,V, +uV, uev=|ulv|cosé
4 aev 1
G=os™ A==|uxv]|
luflv] 2
i j k x=x,+at
UXY = Uy Uy y=y,+a,t
ViV, Z=Z5+a,l

A(x—x%,)+B(y—,)+C(z—z,)=0

Table 2: Complex Number

z=a+bi z=r7r(cosB +isinfd)

Z=a-bi

a

r =+/a? + b? 9=tan“(éJ

ZyZ; =1 [C05(81 + 82) + fsin(Bl % 92)]

Z; N .
— = —[cos(68, — 6,) + isin(8; — 6,)]
Z; T2

1
7 = ,r.eiS Zn = r.neinfr‘
G+2km 5 2
gh=p el ®m I z" = r*[cos nf + i sinn@]
3 L 6+ 2kn 84+ 2km
zn =Fn{ o8 + isin

6 ==
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